Efficiency vs P,

10.05
o
9.045
>
20.04
@
2.035
[J]
0.03
0.025
0.02
0.015
0.01
0.005

1.9

Ratio

o
©
a

=
o
iN

1 10 . Gedf’

[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquarel5_step2_tt ar-ﬂhasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

=0.05
[2]
§.045
2
§0.04
Q
$9.035
3]
0.03
0.025
0.02
0.015
0.0
0.005
10

Ratio

1.

[y

P
TTTT[TTIT[TTTTI[TTTT

TP n

..................................

.................................

-
+
n

3
o
f




	Contents
	Page 1


